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Harmonics in public supply network

total harmonic distortion (THD)

THD,, )

harmonic source

THD;

GB/T 14549—93

HRIh
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038| 10 |78|62|39|62|26|44 19|21 |16|28[13|24|11|12|97|18|86]| 16|78
6 100 |43 (34|21 34|14 |24 |11 |11 85|16 |71|13]61|68|53| 1047|9043
10 100 |26 20|13 |20 |85|15|64|68|51|93[43|79|37|41]32|60|28]|54]|26
35 250 |15|12 | 77|12 |151|88|38|41|31|56|26[47]|22[25]119|36|1.7|32]|15
66 | 500 16|13 [81|13|54[93|41|43|33|59|27|50/23|26|20|38|18|34|16
110 | 750 |12 96|6.0]/96/40/68|30/32|24|43|20|37|17|19|15|28|13|25]|12
: 220kV 2000MVA.
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